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Solutions

a) For a 90% confidence level we can expect the data will be within 
1.6 standard deviations from the mean.

b) For a 95% confidence level we can expect the data will be within 
2 standard deviations from the mean.

c) For a 99% confidence level we can expect the data will be within 
2.6 standard deviations from the mean.
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Confidence level = 17 / 20

    = 0.85
B

D D is false because no 
range of values is stated
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= 5000 / √100

= 500

σ = 5000, n= 100

The expected standard deviation of the sample means is 500 km.

Check Example 3 on Page 357

a) z = 2.576 (at 99% confidence), p = 0.82, n = 25

E = 2.576 25
0.82(1 ­ 0.82)√

E = 0.197933376

The margin of error at a confidence 
level of 99% is about 19.8%

b) Confidence interval = Mean ± Margin of Error
Lower limit = 82 ­ 19.8

= 62.2%

Upper limit = 82 + 19.8

= 101.8%
The 99% confidence interval for these exam marks is 62.2% to 101.8%

c) Usual format is to state the mean, margin of error, and confidence level.

Students recorded a mean mark of 82% ± 19.8%, 99 times out of 100.



7.40 Confidence Intervals.notebook

4

May 21, 2020

a) Mean = Total mass of the cookies ÷ Number of cookies

= 965.9 ÷ 20

= 48.295 g = 2.0 ÷ √20

= 0.44721...
The mean of the sample is 48.3 g with a standard deviation of 0.45 g. 
We have to assume that the standard deviation is the same for the 
Double Creme line as it is for the Single Creme line.

b) Confidence interval = Mean ± Margin of Error

Lower limit = 48.3 ­ 0.882

    = 47.418 
E = 1.96(0.45)

E = 0.882

Upper limit = 48.3 + 0.882

    = 49.182

The 95% confidence interval for the mean mass of filling is 47.4g to 49.2g 

c) No, they are not. We are 95% certain that the range of masses of a 
Double Creme is between 47.4g and 49.2g. The Single Creme line has 
a mean of 25g, so at best, they can only make the claim for half of the 
Double Cremes.

Find standard deviation of the mean.

Find the margin of error.

Then find the confidence interval.

= 2.5 / √50

= 0.353553...

Confidence interval = Mean ± Margin of Error

Lower limit = 12 ­ 0.693

    = 11.307

E = 1.96(0.3536)

E = 0.693

Upper limit = 12 + 0.693

    = 12.693

The 95% confidence interval for the colour of the honey is from about 
11 to 13.
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